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Question ID : 7193991216
Status : Answered
Chosen Option : 4
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Question ID : 7193991240
Status : Answered
Chosen Option : 1
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Question ID : 7193991231
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Question ID : 7193991219
Status : Answered
Chosen Option : 2
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Question ID : 7193991223
Status : Answered
Chosen Option : 3
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Ans 1. Home
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& 4 SlideShow

Question ID : 7193991248
Status : Answered
Chosen Option : 3
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Question ID : 7193991206
Status : Answered
Chosen Option : 3
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Question ID : 7193991247
Status : Answered
Chosen Option : 4

Q) peet IR PRI AT e BF W W F &9 & Faieya fFar 7w &
Ans v g

X 2 TOw

X 3 Hfam e

X4 TEer

Question ID : 7193991220
Status : Answered
Chosen Option : 4
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Question ID : 7193991211
Status : Answered
Chosen Option : 4
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Question ID : 7193991239
Status : Answered
Chosen Option : 1
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Question ID : 7193991204
Status : Answered
Chosen Option : 1
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Question ID : 7193991241
Status : Answered
Chosen Option : 2
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Question ID : 7193991215
Status : Answered
Chosen Option : 3

4 PR F ¥ i T s wd e
(i) =AY AMY FT CFAT TEH Vsl AWD F TR TRH @ FAeT

g 2l
(i) TE= TR & F fow, DRAM, SRAM & Jer=m & @& 2
e e (i)

X2 gt (i) AR (i)
X osoa ar (i) s 7 8 (i)
X 4 e (i)

Question ID : 7193991202
Status : Answered
Chosen Option : 4
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Question ID : 7193991233
Status : Answered
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Ans J 1. pdf

K2 7z

< 3 .rar

X 4 zip

Question ID : 7193991221
Status : Answered
Chosen Option : 2
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Question ID : 7193991214
Status : Answered
Chosen Option : 3
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Question ID : 7193991232
Status : Answered
Chosen Option : 2
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Question ID : 7193991225
Status : Answered
Chosen Option : 1
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Ans 1. Unix
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Question ID : 7193991209
Status : Answered
Chosen Option : 4

Q.2 Bt & ¥ f5F sweaay & 3999 27 & oFaar 3k = F e § cefag == & B

2 e

e e
X 2 g% 9rEET
X 3 Yot giweaTy

X 4 FEEHEIETT AR

Question ID : 7193991207
Status : Answered
Chosen Option : 1
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Question ID : 7193991208
Status : Answered
Chosen Option : 3
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Question ID : 7193991213
Status : Answered
Chosen Option: 2
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Question ID : 7193991203
Status : Answered
Chosen Option : 4
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Question ID : 7193991234
Status : Answered
Chosen Option : 1
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Question ID : 7193991227
Status : Answered
Chosen Option : 2
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Question ID : 7193991218
Status : Answered
Chosen Option : 4
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Question ID : 7193991224
Status : Answered
Chosen Option : 2
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Question ID : 7193991238
Status : Answered
Chosen Option : 4

4 et # @ Fi7 o ReeT CPU & wi@ weal & gefiar 22
Ans 1. ALU, CU, RAM

X 2 gig fawF, ALY, CU

v ALU, CU, IfSET

X 4 CU, ROM, Tfaeex

Question ID : 7193991205
Status : Answered
Chosen Option : 2
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Question ID : 7193991222
Status : Answered
Chosen Option : 2

Qé3 s T AssaTe Tl heee B Oa # 9f¥se fhar Ser g, ar ofiona w=r gen?
=AVERAGE(3,12>16,9)

Ans o1 4
<29
X345
<46

Question ID : 7193991235
Status : Answered
Chosen Option : 3
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Question ID : 7193991242
Status : Answered
Chosen Option : 3
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Question ID : 7193991230
Status : Answered
Chosen Option : 4

Q3 Frsrare Tt tige Yot F Tomgs w1 Rwiee dRTENE A e &7
Ans X1~ thé?,-

v 2 R

<2 FrEEe

A e

Question ID : 7193991249
Status : Answered
Chosen Option : 2
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Question ID : 7193991210
Status : Answered
Chosen Option : 3
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Question ID : 7193991246
Status : Answered
Chosen Option : 4
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Question ID : 7193991217
Status : Answered
Chosen Option : 2
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Question ID : 7193991229
Status : Answered
Chosen Option : 3
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Question ID : 7193991212
Status : Answered
Chosen Option : 2
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Chosen Option : 1
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Status : Answered
Chosen Option : 2
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Question ID : 7193991244
Status : Answered
Chosen Option : 2
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Chosen Option : 3
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Question ID : 7193991236
Status : Answered
Chosen Option : 4
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Question ID : 7193991245
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Chosen Option : 2
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Question ID : 7193991201
Status : Answered
Chosen Option : 4
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Question ID : 7193991262
Status : Answered
Chosen Option : 1
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Chosen Option : 1
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Question ID : 7193991266
Status : Not Answered
Chosen Option : --
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Question ID : 7193991260
Status : Answered
Chosen Option : 2
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Status : Answered
Chosen Option : 2
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Question ID : 7193991255
Status : Answered
Chosen Option : 3
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Question ID : 7193991268
Status : Answered
Chosen Option : 2
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Question ID : 7193991256
Status : Answered
Chosen Option : 4
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Question ID : 7193991265
Status : Answered
Chosen Option : 2
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Status : Answered
Chosen Option : 2
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Question ID : 7193991269
Status : Answered
Chosen Option : 4
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Question ID : 7193991253
Status : Answered
Chosen Option : 1
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Question ID : 7193991251
Status : Answered
Chosen Option : 1
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Question ID : 7193991261
Status : Answered
Chosen Option : 1

PR R R et R e e e
Ans  of 1. KMPS

X 2 HLPT

< 3 NRVZ

< 4 FINR

Question ID : 7193991252
Status : Answered
Chosen Option : 1
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Question ID : 7193991254
Status : Answered
Chosen Option : 4
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Question ID : 7193991270
Status : Answered
Chosen Option : 1
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Question ID : 7193991258
Status : Answered
Chosen Option : 2
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PERSISTENT

Ans 1. SNIPERS
X 2 RESPITE
v 2 PERCENT
#X 4 INTEREST

Question ID : 7193991264
Status : Answered
Chosen Option : 1

Section : General Hindi
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Question ID : 7193991281
Status : Answered
Chosen Option : 3

2 gy & FiT @ o
Ans x1m?r
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Question ID : 7193991272
Status : Answered
Chosen Option : 2
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Question ID : 7193991282
Status : Answered
Chosen Option : 1
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Question ID : 7193991280
Status : Answered
Chosen Option : 1
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Status : Answered
Chosen Option : 1
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Question ID : 7193991283
Status : Answered
Chosen Option: 2
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Question ID : 7193991277
Status : Answered
Chosen Option : 3
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Question ID : 7193991279
Status : Answered
Chosen Option : 4

Question ID : 7193991284
Status : Answered
Chosen Option : 4
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Question ID : 7193991273
Status : Answered
Chosen Option : 1
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Question ID : 7193991276
Status : Answered
Chosen Option : 2
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Question ID : 7193991285
Status : Answered
Chosen Option : 2
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Question ID : 7193991278
Status : Answered
Chosen Option : 3
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Question ID : 7193991274
Status : Answered
Chosen Option : 3
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Question ID : 7193991271
Status : Answered
Chosen Option : 3

Section : General English

Q1 Select the INCORRECTLY spelt word.
Ans < 1. fidget

v 2. fuedal

< 3. festivity

X 4 fertilise

Question ID : 7193991297
Status : Not Answered
Chosen Option : --

Q2 Select the correctly spelt word.
Ans 5 1. panctual
/< 2. punctuel
« 3 punctual
/< 4. punchual

Question ID : 7193991296
Status : Answered
Chosen Option : 1

@3 Select the most appropriate option to fill in the blank.

When she the bus, it suddenly started moving.
Ans 3 1._has got down

« 2 was getting down

/< 3. got down

/< 4. is getting down

Question ID : 7193991288
Status : Not Answered
Chosen Option : --

Q.4




Ans

Select the most appropriate option to fill in the blank.

she belongs to a rich family she is quite a miser.
/< 1. Both, and
« 2 Although, vet
/< 3. Hardly, when
K 4 As, s0

Question ID : 7193991291
Status : Answered
Chosen Option : 2

Q5 Select the most appropriate phrase to fill in the blank.

He always when we are climbing the mountains.

Ans 1. falls away

/< 2. falls short of
/< 3. falls back
v 4 falls behind

Question ID : 7193991299
Status : Not Answered
Chosen Option : --

Ans

Q6 Select the most appropriate antonym of the given word.

CONCEITED

7< 1. self-important
+ 2. unassuming
/< 3 vain

X 4 immodest

Question ID : 7193991295
Status : Answered
Chosen Option : 4

Ans

Q7 Select the most appropriate option to fill in the blank.

I like to stay home Sunday mornings and relax.
X 1..in at

/< 2. by, on

7< 3 at, by

4 at,on

Question ID : 7193991287
Status : Answered
Chosen Option : 2
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Select the most appropriate synonym of the given word.
REVOKE
Ans 3 1. uphold

& 2. maintain
/% 3. manage

« 4 cancel

Question ID : 7193991293
Status : Not Answered
Chosen Option : --

Q9 Select the most appropriate synonym of the given word.

DOMINANT
Ans 3 1. Jast

v 2 foremost

75 3. common

#< 4. subordinate

Question ID : 7193991292
Status : Answered
Chosen Option : 4

Q.1 o : :
o Select the most appropriate option to fill in the blank.

The meeting will be over about an hour.,
Ans 1. for
< 2 by
V3 in
X 4 on

Question ID : 7193991286
Status : Not Answered
Chosen Option : --

Q.1 i a i
; Select the most appropriate option to fill in the blank.

Lunch is not vet ready although she all the morning.

Ans 1. has cooked
« 2 has been cooking

/< 3. is cooking
X< 4 cooks

Question ID : 7193991289
Status : Answered
Chosen Option : 1

Q.1 The following sentence has been divided into three parts. One of them may be incorrect. Choose the INCORRECT part

2 from the given options. Choose “No error” if there are no errors.
Every night/ mother made me going/ to bed at 9 p.m.

Ans




/< 1. to bed at 9 p.m.

' 2 mother made me going
/< 3. Every night

#< 4. No error

Question ID : 7193991298
Status : Answered
Chosen Option : 2

°é1 Select the most appropriate antonym of the given word.

TEMPERATE
Ans 1. mild

< 2. moderate

v 3 extreme

#< 4 controlled

Question ID : 7193991294
Status : Answered
Chosen Option: 2

041 Select the correct passive form of the given sentence.

The members are still discussing the problem.
Ans 3 1. The problem has been still discussed by the members.
/< 2. The problem was still being discussed by the members.
/< 3. The members are still being discussed by the problems.
« 4 The problem is still being discussed by the members.

Question ID : 7193991300
Status : Answered
Chosen Option : 4

Q1 i : :
5 Select the most appropriate option to fill in the blank.

The flood was quite severe Kedarnath temple was saved.

Ans X 1. because
v 2 but
/< 3. although

X 4750

Question ID : 7193991290
Status : Answered
Chosen Option : 2

Section : Technical

O g waEmE W ¥ A # g B = Far A 32
M S ST (Y) (@R R




X 2 3T e
X 3 ofFg Fae (3% TE)
X 4 ofyumer e (eeee =)

Question ID : 7193991349
Status : Answered
Chosen Option : 1

Q.2 v 4@, 500 V ofE AT F HF FER W 720 S-S FEaeT o g §| AR SR a
60 A 3 #fem 9fr 9t 0.03 Wb &1 amfa wfeldie 0.2 0 ot §9% @ sl Jor 1V 21
Arex Fr PR w1l F=2w 2

Ans 1. 576 rpm
<2 484 rpm
'3 675 rpm
X 4. 522 rpm

Question ID : 7193991442
Status : Answered
Chosen Option : 2

3 Fr #r soEERE S s F =g &1 =T E
Ans x.la I’Iﬁ

o 2. STl

X3 giErE
X+ afcgow

Question ID : 7193991308
Status : Answered
Chosen Option : 1

Q.4 mmmmmmm%ﬁﬁw_mmm#m%‘
Are XK. dether, IR

X 2 TR, dF-aR

X 3. Tg-the, Bg-dX oA fa&H

v o A%, dA-aR

Question ID : 7193991370
Status : Answered
Chosen Option : 1

¥ qreR EeT =oE (urg Fe A A g &
Ans XK1.1.278 mm T 2.544 mm

V2127 mm & 2.54 mm
<3027 cm ¥ 2.44 cm




/4128 cm T 254 cm

Question ID : 7193991306
Status : Answered
Chosen Option : 1

Q.6 v 6- oy A-FEfE T F 300 FeF ¥ I Foew 9 Fege mFE A 5 V I I A

o Seedr Fm §?
Ans X 1.1500 V
<2 360 V
7360V
v 4 250 V

Question ID : 7193991449
Status : Answered
Chosen Option : 1

Q.7 4- o vl fove anr o FfaT & 220 R Hr AP Fo § SEE @ e 0004 0 F

ymfer fady w=r 2
Ans X1.0.025 @
v'2 0.055
K319
<4050

Question ID : 7193991448
Status : Answered
Chosen Option : 3

¥ o aaREET
Ans X1' Eﬂ-
v TE
X3 g
K4 T

Teter TR

Question ID : 7193991421
Status : Answered
Chosen Option : 3

W frw SR H FAME F T FEer F TAHSHAT & ST §7
X = faega-um 3R 3= deear

v o v Tega-anr iR 3= Jeear
X o oo fogga-am 3k e deear
X o e Ragga-uw iR foes aeear

Question ID : 7193991398
Status : Answered
Chosen Option : 2




Q1 v grg-FoT ga9F &, ST gifeEeX I gee # Hfad g

0
Ans x 1. A
<2 AB
v B
X4C
Question ID : 7193991427
Status : Not Answered
Chosen Option : --
.1 P & +
U Orom TR F oRSET &, gER yHE sEHeT yomer gl

X e ador o
A 2 OTe TY¥UT YOTelr
v 5 TEr gmT gomerr
X 4 Toca fg=oT FomeR

Question ID : 7193991389
Status : Answered
Chosen Option : 4

1 50 Hz, 8 orer gwmai}ﬁqa AT Fr Y

Ans 2 1. 3000 rpm
' 2. 750 rpm
< 31500 rpm
7 24000 rpm

g

Question ID : 7193991401
Status : Answered
Chosen Option : 2

% frer arr Wi @ amRR T 7 T B

e et e
X2 7g g
X 3 ZoIar T
X 4 Rrear o

Question ID : 7193991447
Status : Answered
Chosen Option : 1

%' m@dqur Fe (slip ring) SO Hex & A1 / g B

MK e afEE e
v 2 3T Jad FeTeur




X 3 e waae semgur
X 4. 3= GETAT

Question ID : 7193991409
Status : Answered
Chosen Option : 1

Q.1 v Tm@r 0.75 AFF U W 230 V AC FRT & 350 mA FT HEU AT §1 T gEN o 7% aeafae

S ofem & qomT w=H
Ans of 1 60.375 W

<2 6475 W
<3 6375 W
X< 4 60.475 W

Question ID : 7193991310
Status : Answered
Chosen Option: 1

Qé,1 FIT H giaares &1 ATTHTH guu'ch grar %’I
A
s

X 2 TOoHH

X 3 UATeHS
V' 4 HUTcHS

Question ID : 7193991338
Status : Answered
Chosen Option : 1

Q;Wﬂmﬂﬁ?é;gmmmﬁ:ﬁv,mﬁmqﬁwﬁmm&ﬁﬁwaﬁw |

A 1 Tl & FI SRET ST e
X2 q3da & a1g e o s arfze
X3 ofiqy & @ ST IfRT
X 4 IO H SR ST AR

Question ID : 7193991437
Status : Answered
Chosen Option : 1

&1 MOSFET (#wthe) #r gar 9wy wfeamer #r Fife F 2ar T

ans of1.10° O
*K.210°Q
31080
X 41030

Question ID : 7193991420
Status : Not Answered
Chosen Option : --




QT ofonfaT / TEEER # R Teas (fEee) R e i #
Ans X 1. TS

V2 arfeer

X w2

<4 e FEe

Question ID : 7193991378
Status : Answered
Chosen Option : 2

062 F-tra-aw wFateT fyE shwee iy & ofFT faffaa & o ow g sl s 1

Ans ( 1. \E‘JLIL

X2 \5 Voulph

X3 Vil

X4Vl /Y3

Question ID : 7193991374
Status : Answered
Chosen Option : 1
Q.2 mwmﬁw?mmmmmmwmmwﬁmn Celey
T i s ¥

e TR ¥ oA oy F e
X2 28 73 & famw
X3 i & T
X 4 FATHET &F T Ty & A

Question ID : 7193991327
Status : Answered
Chosen Option : 4

Q2 zfy g Fsfomt & & R S 5 H 8 3k ol o Fd & uww 2 Als Fr T F mged &,

2 @l 3= # R Ragd aEw @ EMF) @
Ans o110 V

X222V

X325V

X5V

Question ID : 7193991332
Status : Answered
Chosen Option : 1

Qéz AT T T I A, 9T AW @F B AR e (e ) weard

e o R @ SR
K2




¥ et ¥ fre fww R A e & B ww ger v

X3
¥ S & BT wW i T gs F B fww @er R

X o w2 e

Question ID : 7193991399
Status : Answered
Chosen Option : 4

Q2 Frrfofen fwedt # 2 37 33 & swwmer o a1 R () 7 T SR A 2
M X1 g st Rl

X 2 el Hee IRed

v 3 3= gfwedr

K4 orE FiT e IREt

Question ID : 7193991356
Status : Answered
Chosen Option : 2

Qv ReaiEds @ e # 9E F Swe g 2
Ans X1' g9

Xz.aﬁa’é@aﬂ

v o HTHER FEel

X 4 oy

Question ID : 7193991345
Status : Answered
Chosen Option : 4

QL frer unT FiEd F TESE (FEEY) . F T e ¥
e X1 g # e o

v 2 #EANET 990 O ¥ =

X 3 A Tl FA

X 4 FOS @ 354 H Uebed

Question ID : 7193991444
Status : Answered
Chosen Option : 2

Q2 sroemaT YT YOS & AFST H S F T W g B
Ans of 1. 90%

< 2 50%

X3 10%

X 4 60%




Question ID : 7193991393
Status : Answered
Chosen Option : 3

Q2 Praffee & 3 #i7 & R a7 F1 siegs e o == & R R

e K aTET Y e
X 2 gfeRrer saETeoT
X 3 YTehea HHRIT
v o enfrar swareRToT

Question ID : 7193991372
Status : Answered
Chosen Option : 1

% forelr fstelr S T AeheaTer T i e e waw §7
M o e Rdega weed

X 2. 3T 9mT TTeTRar
X 3 T iy gFEe
X 4 AT AT

Question ID : 7193991314
Status : Answered
Chosen Option : 1

% fyoror SRunfAT / TrEwER 2 ¥

At X1 500 kVA & ww faret (R aer s=amdt oftonfas
52
500 kVA & 30 fFuR () s s=ani aionfas
V'3 500 kVA @ Fx fuw Q&) T e ofonfasr
y
500 kVA & #fae fRuir AfEen) arer smemir afonfas

Question ID : 7193991379
Status : Answered
Chosen Option : 3

93 60 Hz % wr Regd % 790 s T IR AN GeAEreS Hroafa g
Ans 1. 3000 rpm

< 2.1500 rpm

7< 3 750 rpm

+ 4 1800 rpm

Question ID : 7193991385
Status : Answered
Chosen Option : 4




U3 55 dch @ T Fed § we Ry R & T G Fi B S w §2
MK A

X2 dega A

X3 Srufde ¥

v o gfadTes |w

Question ID : 7193991325
Status : Answered
Chosen Option : 4

93 gl Rig 77 Tvaw & oEF W v Hegrda T @ S g
Ans X'I. F{_; ﬁ

(23-]?;%3%’&'

X 3. ek

X o g

Question ID : 7193991326
Status : Answered
Chosen Option : 1

Q3 forreRader & T AT gI F F-SRa Rage e T A AT T T 2
X o 9 Rege aEE

X 2 TaEga s 9 9o FHEEE 9T

X 3 0T fagga agF T

v gfgErr Seear

Question ID : 7193991435
Status : Answered
Chosen Option : 4

053 T FfofSTs oo & ofy v9de Ue () F AT FT RT @ 2
Ane X101 % 0.11

X201%09

v 209 7099

X+1®15

Question ID : 7193991418
Status : Answered
Chosen Option : 2

°é3 T &, TS, 3 SRl RAEEEs TR F G@ET F A9 3897 g 87
MK g P # oAy d s




X 2 BIEIT & IS5 & H=BIed e
A 3 FIEET F JT ¥ ==
& TG FIENH & A § ST

Question ID : 7193991368
Status : Answered
Chosen Option : 3

Q.3 v FHE AR e #, aR 59 o 0.9 31 afy seEew uRr 2 mA § | SR 9T @ A
7 -
AT F?

Ans of 1.0.2 mA

<204 mA

<322 mA

K 4 42 mA

Question ID : 7193991416
Status : Answered
Chosen Option : 3

Qé3 wF 7 F BT F B wwieg SEr & 39aer F FA T F Ow T A g

e X1 RreedRew A
X 2 ot g

v 3 uEram gl
< 4 grer gl
Question ID : 7193991333
Status : Answered
Chosen Option : 3
W e fwent # ¥ TewEsh Ry # wE 3o 2l

e i
X 2 gfesgn
< ¢ At
X4 dATE

Question ID : 7193991412
Status : Answered
Chosen Option : 4

U i ot (FewY) # wgw Rw AR S woafRm @ ¥
Ans X 1.80%, 20%

X 2 65%, 35%

v 3 60%, 40%

X 4 50%, 50%

Question ID : 7193991311




Status : Answered
Chosen Option : 3

Ans X1~ ;F, qg.-;.
v 2 'E g
X o H g
X4 ‘G gEr

Qfﬂﬂ'ﬂn@?(mqﬁnﬁ,m-mmﬁi(ﬂﬁmmﬁﬁ F T H FeT G B

Question ID : 7193991387
Status : Answered
Chosen Option : 2

X2 %us @ FEw
X o porw 1 s

v FETE @ aeedr BuE

Q§4 form fwe % HER veiw d9g 9wy & @ doedr 9 @ W@ T & aet g 22

Ans X frrEte T anT e

Question ID : 7193991318
Status : Answered
Chosen Option : 4

v 2 % [ =T R F

X 4 [ O TER F

Ans X 1. areaefer SR YR F

X 3. FES TEHFAES THR &

°é4 faega 39t W fFE TR & AfFaeras S e a8 s aiye?

Question ID : 7193991301
Status : Answered
Chosen Option : 1

Ans X 1. offrges SEIT
v 2 g 9HT
X5 g gER

=
X4 A== T

Q.4 37 g w5y SAA-a19F (ST £12T) F1 39DRT T a7 &, S Fad UF 9% & @iy U & e
4 o dg (wiiE TEe) ST I ok i smEemeAT B 2

Question ID : 7193991343
Status : Answered
Chosen Option : 4

Ans X 1. @ G

U v wRANET 3T a T A @t

it =gr =Tar B




X 2 F=1 Feear ax
V'3 gE ar
X 4 fFT Jreear A

Question ID : 7193991315
Status : Answered
Chosen Option : 3

Y gemmw A & smeawar g B
X Fae At e Searad! orT IRy

X2 o

X o Fae fose anr mgfd

v o & B Searad o MR feve amr amafd

Question ID : 7193991404
Status : Answered
Chosen Option : 4

U e 7 ¥ T TR AAE TS TeTd # TF 8 82
e o T
X2 grar

X3 G
X 4 g

Question ID : 7193991312
Status : Answered
Chosen Option : 2

Y RmE R S ETETA A @ o
Ans X1 HTIAS

v 2 TR

X s mAEEA

X 4 gISEISTeATeRIur

Question ID : 7193991340
Status : Answered
Chosen Option : 1

L sy TF FT TF
Ans o I — Ip

RN

V3Pl — I

X4aPf =1,




Question ID : 7193991403
Status : Answered
Chosen Option : 2

QS g o o Rwe 58 oW #1 F wea § o Rege @ 7w i g ¥
i o FEFET

X 2 femaiEds (@)

X 3 81 oA

X 4 R

Question ID : 7193991346
Status : Answered
Chosen Option : 4

QS o AT de #, IeT w1 Rega semes oS § o o1 o ufee At ga o o
T s oty & mf & TifE AfFd & wT F & e ¥

Ans o 1 aeT (plus), 91
X 2 & (plus), 7@

& 3. HOT (minus), 98
7< 4 F/OT (minus), I

Question ID : 7193991366
Status : Not Answered
Chosen Option : --

Qésmaﬁa:ﬁvmgﬁﬁqmwé?
e X 1. garer 3edetE SIS (LED)

X 2 weirde

v g

X 4 @fzgR T

Question ID : 7193991391
Status : Answered
Chosen Option : 4

Q.5 37 oafeT vads (TEAGET) T OFA FEa ¢ SO T O FEd B @59 § o9 eRs oY 9w H
3 vanfym w1

A X1 g € gade (TR

X2 T A Y (TFSIBRR)
X 3 9 AB YIUF (TFRTHRR)

v 4 T B g (TESeeTaT)

Question ID : 7193991428
Status : Answered
Chosen Option : 1




Q.5 us gRunfay ¢y & a9 T F = R gt & 97 o & v e 9 # suer G s 32
4

o g R

X 2 Regagsea fer

X 2 fareAs gram R

<4 Ty e

Question ID : 7193991360
Status : Answered
Chosen Option : 1

Y getw A w o d
M X wiE FEw I ufed U (pf) W
X 2 A Teheh A T W
X 3 HEF e 99 AfFd TUTF (pf) W

o U9, 3 AT T ATFT A0 H W v o

Question ID : 7193991402
Status : Answered
Chosen Option : 2

A5 giforex #r e Rdwantt & Io AR Vo & of= T 7 H1 T FE A 87

Ans X.Imm
X2 3w &7
X s mgfea &7
v o e g

Question ID : 7193991429
Status : Answered
Chosen Option : 2

Q5 o frve uwT HET IO 4T 9T 1725 rpm AT OFT SR W 1775 rpm W T § AfE e Er

7

Ans of 1. 2.9%
<2 4.7%
X 3.47.6%
X 4.15%

Question ID : 7193991441
Status : Answered
Chosen Option : 1

Qé5 = g () A @ S-Fr (F) TeT FEer § FS ¢ O oo # F S @ 9 e 32

X e gemrEd! JeRE 8 3eved B g




V2 TF qUF JEHT 8 3T e ¢
X 5. UH TIEAAA GEHT BT 3o &l ¢
X+ Te TR GEhT 87 39 g g

Question ID : 7193991440
Status : Answered
Chosen Option : 1

U 3w & e F gER, OY R & GhAE g g
A o1 g

X 2 Freear

X 3 gfeRrer Fr Amr

X 4 fafarse gfage

Question ID : 7193991317
Status : Answered
Chosen Option : 1

% IR-fig waaF P @ G ST W F R e R e §2
e XK1 A = afefE w1 F R

X 2 Arex A 8T g F B

XK o ot @ fEam @ Sgerfia e & e

v &3
&y s G frga ww W Aty @geer F e

Question ID : 7193991439
Status : Answered
Chosen Option : 4

A6 v ifeEeT yade #, ScuSH SUART WUTRT & e St G S 82
Ans X 1. gicEmer e &
v 2
gafties Jeamadt U Hohd &1 for Sfaare 9o e e &g
X o 3mgfea fazor @g

X « dz-ated (dsfrmy) @ O = i

Question ID : 7193991425
Status : Not Answered
Chosen Option : --

Q.6 wmmEdt emT (AC ) SRy #, erfter g A R # dr & wey Rt R & @ B
2 o @i s &2

AN X1 X = 2mfC




X2 X, =nfC

V3 Xc = 1/2nfC

X 4 Xc = 4ufC
Question ID : 7193991375
Status : Answered
Chosen Option : 3
Q.6
5 AleX F1 ATFd U (PF) 31¥aTepa 3% & gl

Ans JT = ﬁ %

X 2 gfeRre Rsea e (5)

X 3 oifgd drer
<4 gl gafaa

Question ID : 7193991408
Status : Answered
Chosen Option: 1

Q.6 Ru 7w s ¥ o, ofionfEs & O-REw gaar d AR g F TEy & et § @ A

4 TR

K. oot R gerar aftifsas garar @ afoes g ¥

X2 F o= g B

v o T feaw garar SIOSTE Satar @ FF g g

X4 F FreET g &

Question ID : 7193991381
Status : Answered
Chosen Option : 1

L gdum St F, 3 P Hr = @ g

e K T
v R
<3 3rg T
X4 FEem

Question ID : 7193991395
Status : Answered
Chosen Option : 2

U6 v fege FedOT e Om A0 FHeT A 5Es F wror e war B

M T gade st

X 2 FF BT Fr T
X 3. A AT




X4 3= 7fg F7 a7

Question ID : 7193991433
Status : Answered
Chosen Option : 4

U 57 AmE I F FAT FEd § S T oot ety g §7

A o1 PF AR
X 2. STgAAHERT / afeg AT
Xs.a?-r_a;%a?rmﬁ?r

X 4 T dig I9

Question ID : 7193991388
Status : Answered
Chosen Option : 2

L° mrET-gerer (street lighting) & T #iF @ o 39gad BT 27

A o1 garer 3edeTE STETE (LED)
X 2 e o
X 3 grdifea o

X4 i
Question ID : 7193991394
Status : Answered
Chosen Option : 1
U6 3iET g & it oefr g § o ofEh & @E TR &

At X1 sl Al
X2 oy st afe
X s g% At e

v 4 B sl d@edr
Question ID : 7193991358
Status : Answered
Chosen Option : 2
U v wHE % BT BT gaRd v iR o & o FET STar g
e XK. efpTER
W
X3 Fee
X4 3R

Question ID : 7193991307
Status : Answered
Chosen Option : 2




7 fez amr mehE F AN # BFE e ofena fRar 5 gear ¥

Ans Xl

T8 i Foraes 9T g Fseex & RiEge 9w T 3R @ ¥
X 2 7Eg &9 fPEE W A HfEEg a1 g

X3

T & F e & T &9 FIer # Rega 3mfa &

v

T AN FEA & WY v F WY & 2w aw g OwE @ g # o & agewtaa e

il

Question ID : 7193991436
Status : Answered
Chosen Option : 4

% gar & qot aReEr

Ans X1 8854 X 1072 H/M
X 2 4nx 10"°H/m
v 3 41X 107'H/m
X 4.8.854 x 107'°H/M

Question ID : 7193991330
Status : Answered
Chosen Option : 3

Qé7 WS & AT A AT ¥ T F FERT & Z2 F 00 hH SURI0T F ITUET RhAT ST 57

K wiE ()
X2 Ba 9%
v fgwe (HfEfee)
X 4 &1 ()

Question ID : 7193991304
Status : Answered
Chosen Option : 2

Y P # A FiE St A F O AT Al 22

e K TR
X o GAET TTAT

X3 Fems wehe

v 4 greT 99

Question ID : 7193991355
Status : Answered
Chosen Option : 4




% oefE AT T AR W W e B
M X . R TRy

v o oz=g afy

X o fouw afy

X 4 ofiygdt ofy

Question ID : 7193991352
Status : Answered
Chosen Option : 2

U7 e wo F Rege T & IREOT F TA TR F A FG A §2
Ans XK1 S

v Fer am d=l

X3 e

X 4 AT

Question ID : 7193991322
Status : Answered
Chosen Option : 2

057 ATH TATS ORI F F FEd & ord A 38, qefwe #r 97 A & R, #g g g5 2
Ans o 1 EITTOT U
X 2 W gqHET

X 3 TEwar umr
K 4 3 9RT

Question ID : 7193991415
Status : Answered
Chosen Option : 2

YV ofofee & @ FF @Y & BT, B-H a% v d@ndt Y@ geie
R QI p—

X2 7g g

X 3. fafeera O

o g
Question ID : 7193991329
Status : Answered
Chosen Option : 2
Q§7 T TETNF Ael T O / o9 Feware . Ay #r a1 & 9Rafaa @ 2

A XK. RSz 9w ee
X 2 qUe Icdfad
v 3 fgse amr 8o




X o wgFT

Question ID : 7193991354
Status : Answered
Chosen Option : 3

068 e uRT 9T Hiex & wify e fr wfEay G & gEn gw Fr 71fy aea = T £

A XK. Faer WA ATy AR
X2 AT AfF ¥ FW F AY-JY A=
v i Fae FTEET Y ¥ FN
X4 AT 1Y ¥ I

Question ID : 7193991443
Status : Answered
Chosen Option : 2

% dargw e B g H, FEEES @ F @ ¥
A X1 frEs wfRRveRaT, e Arerar

< 2 I ITAHAT, 3= JTadrashar

Ko ToAeT Sferreehdr, o =moferar

v 4+ 3= wiarueRar, Re SR

Question ID : 7193991367
Status : Answered
Chosen Option : 1

Yo aosmmurFaafdemsme . F R@waa &
M 1 g o

X 2 Sreear Rasor

<3 g T

X 4 gfeRrer o

Question ID : 7193991339
Status : Answered
Chosen Option : 1

Q8 zr mwmey SfeRiuw SEer # 5 qU § N s g ey 800 0§ AR ¥ FER F F & A 3w
SfeRTer F41 gem?

Ans X 1.400 Q
<2100 Q
v': 2000
<4 50Q

Question ID : 7193991319
Status : Answered
Chosen Option : 3




U o sz uwy Aot @ehE arelr & Fefert g §)

Ane XL g arR ¥ 3o o
X 2 99l AR F FO B

\fa?ﬁﬂ'?l’l'{a?gﬁ'ﬁﬂﬂ%
X4 A a F dwfos

Question ID : 7193991434
Status : Answered
Chosen Option : 3

% v ddesEer B weRuEaT @ B
Ane (1.fﬁm3ﬁﬂf'§§@ﬁ#ﬂ1ﬂ'

X 2 FEFeT & T

X o $HIE &

X4 FEFT § FH

Question ID : 7193991336
Status : Answered
Chosen Option : 1

% SR fegg e F _ 9ag o¥ R @ E
M ot gt

KZ-?;E?F«H

v FeAT

X 4 grETatae

Question ID : 7193991342
Status : Answered
Chosen Option : 3

Q8 v FyFaw A iy e & GffEa § 3 e s 9w Aeerias A dR wdegy
7 AeTH F T F g@ET TR S g

A X gfasder
X2 iy
v o aEegd de

Xa a1

Question ID : 7193991362
Status : Answered
Chosen Option : 4

Y AerafT 9 W T g ghewr B s 2
Ans x1m ﬁ




2. et gdeor
& 3. NI / §F TJEToT
X 4 TETEAT (Swinburne’s) gTEToT

Question ID : 7193991365
Status : Answered
Chosen Option : 4

8 o Rl o & ATH T T WHAT ST T=5T B
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